
Distribuição discreta de cargas

Cálculo do campo elétrico produzido por um dipolo elétrico em um ponto P 
situado no plano xy 

According to Newton’s second law, a net force will cause the charge to accelerate with an 
acceleration 
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Suppose  the particle  is  at  rest  ( v0  = 0 ) when  it  is  first  released  from  the positive plate. 
The final speed v  of the particle as it strikes the negative plate is 

vy = 2 |  ay | y = 
2yqEy (2.6.3)

m 

where  y  is the distance between the two plates. The kinetic energy of the particle when it 
strikes the plate is  
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2.7 Electric Dipole 

An electric dipole consists of two equal but opposite charges, +q  and −q , separated by a 
distance  2a , as shown in Figure 2.7.1. 

Figure 2.7.1 Electric dipole 

The dipole moment vector p & which points from −q  to +q  (in the + y ­ direction) is given 
by 

p & = 2qa ̂j (2.7.1) 

The magnitude  of  the  electric  dipole  is  p = 2qa ,  where  q > 0 .  For  an  overall  charge­
neutral system having N charges, the electric dipole vector p &  is defined as 
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where r&i is the position vector of the charge qi . Examples of dipoles include HCL, CO, 
H2O and other polar molecules.  In principle,  any molecule  in which  the  centers  of  the 
positive  and  negative  charges  do  not  coincide  may  be  approximated  as  a  dipole.  In 
Chapter  5  we  shall  also  show  that  by  applying  an  external  field,  an  electric  dipole 
moment may also be induced in an unpolarized molecule. 

2.7.1 The Electric Field of a Dipole 

What is the electric field due to the electric dipole? Referring to Figure 2.7.1, we see that 
the x­component of the electric field strength at the point P is 
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In the “point­dipole” limit where r � a , one may verify that (see Solved Problem 2.13.4) 
the above expressions reduce to  
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We  shall  make  a  polynomial  expansion  for  the  electric  field  using  the  Taylor­series 

expansion. We will then collect terms that are proportional to 1/ r3 and ignore terms that 
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where  we  have  made  used  of  the  definition  of  the  magnitude  of  the  electric  dipole 
moment  p = 2aq . 
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2.5 E
lectric Field L

ines 

Electric field lines provide a convenient graphical representation of the electric field in 
space. The field lines for a positive and a negative charges are show

n in Figure 2.5.1. 

(a) 
(b) 

Figure 2.5.1 Field lines for (a) positive and (b) negative charges. 

N
otice that the direction of field lines is radially outw

ard for a positive charge and 
radially inw

ard for a negative charge. For a pair of charges of equal m
agnitude but 

opposite sign (an electric dipole), the field lines are show
n in Figure 2.5.2. 

Figure 2.5.2 Field lines for an electric dipole. 

The pattern of electric field lines can be obtained by considering the follow
ing: 

(1) Sym
m
etry: For every point above the line joining the tw

o charges there is an 
equivalent point below

 it. Therefore, the pattern m
ust be sym

m
etrical about the line 

joining the tw
o charges 

(2) N
ear field: V

ery close to a charge, the field due to that charge predom
inates. 

Therefore, the lines are radial and spherically sym
m
etric. 

(3) Far field: Far from
 the system

 of charges, the pattern should look like that of a single 
point charge of value Q

 =∑
i Q

i . Thus, the lines should be radially outw
ard, unless 

Q
 = 0. 

2­9 

No limite em que  r >> a podemos expressar   

i N= 

p & ≡ ∑qir &i (2.7.2) 
i=1 

where r&i is the position vector of the charge qi . Examples of dipoles include HCL, CO, 
H2O and other polar molecules.  In principle,  any molecule  in which  the  centers  of  the 
positive  and  negative  charges  do  not  coincide  may  be  approximated  as  a  dipole.  In 
Chapter  5  we  shall  also  show  that  by  applying  an  external  field,  an  electric  dipole 
moment may also be induced in an unpolarized molecule. 

2.7.1 The Electric Field of a Dipole 

What is the electric field due to the electric dipole? Referring to Figure 2.7.1, we see that 
the x­component of the electric field strength at the point P is 

Ex = q 

 cosθ+ − cos θ− 


= q 

 x − x 
 
(2.7.3)

4πε0   r+ 
2  r− 

2 
 4πε0   x2 + ( y − a)2  

3/ 2  x2 + (y + a)2  
3/ 2 



where 
r± 
2  = r2 + a2 # 2 cos  θ = x2 + ( 2ra  y  # a)  (2.7.4) 

Similarly, the  y ­component is 

Ey = 
4πε 

q 

 sin 

r 
θ 
2 

+ − sin 
r 

θ 
2 

− 


= 
4πε 

q 


 

 2 
y − a 

2 3/ 2 
−

 
y + a 

2 3/ 2 

 
(2.7.5) 

0   + −  0   x + ( y − a)   x2 + ( y + a)   

In the “point­dipole” limit where r � a , one may verify that (see Solved Problem 2.13.4) 
the above expressions reduce to  

Ex = 3p 
3  sinθ cos θ (2.7.6)

4πε0r 
and 

Ey = 
4πε 

p 

0r
3  (3cos 2 θ −1) (2.7.7) 

where  sinθ = x / r and  cosθ = y / r . With 3 pr cos θ = p r  and some algebra, the electric 3& ⋅ &

field may be written as  

& & & &  & & 1  p 3(  p ⋅ r r  )E r( )  = 
4πε0 


 − 

r3 
+ 

r5  
 (2.7.8) 
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~p = 2aq ŷonde                            é denominado momento de dipolo elétrico  

i N= 
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According to Newton’s second law, a net force will cause the charge to accelerate with an 
acceleration 

& F 
& 

e qE 
& 

qEy ˆa = =  = −  j (2.6.2)
m m m 

Suppose  the particle  is  at  rest  ( v0  = 0 ) when  it  is  first  released  from  the positive plate. 
The final speed v  of the particle as it strikes the negative plate is 

vy = 2 |  ay | y = 
2yqEy (2.6.3)

m 

where  y  is the distance between the two plates. The kinetic energy of the particle when it 
strikes the plate is  

K = 1 
2 

2 
ymv  = yqE  y  (2.6.4) 

2.7 Electric Dipole 

An electric dipole consists of two equal but opposite charges, +q  and −q , separated by a 
distance  2a , as shown in Figure 2.7.1. 

Figure 2.7.1 Electric dipole 

The dipole moment vector p & which points from −q  to +q  (in the + y ­ direction) is given 
by 

p & = 2qa ̂j (2.7.1) 

The magnitude  of  the  electric  dipole  is  p = 2qa ,  where  q > 0 .  For  an  overall  charge­
neutral system having N charges, the electric dipole vector p &  is defined as 
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y + a

y � a
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Distribuição contínua de cargas

Cálculo do campo elétrico produzido por um anel de raio R, uniformemente carregado 
com carga Q. Campo calculado em um ponto P situado a uma distância z do centro do 

anel, sobre um eixo perpendicular ao plano do anel, passando por seu centro.

Estratégia: repartimos o anel em elementos infinitesimais, calculamos a contribuição devido 
a cada um desses elementos e somamos sobre todos os elementos que compõem o anel. 

Figure 2.10.5 Electric field at P due to the charge element dq . 

Solution: 

Consider a small length element  d"′�on the ring. The amount of charge contained within 
this element is dq = λ d"′ = λR d φ′ . Its contribution to the electric field at P is 

dE 
&

= 1  dq 
2 

r̂ = 1  λR d 
2 

φ′ 
r̂  (2.10.12)

4πε0  r 4πε0  r 

Figure 2.10.6 

Using the symmetry argument illustrated in Figure 2.10.6, we see that the electric field at 
P must point in the +z direction. 

1  λR dφ′ z λ Rz d  φ′ 
dE = dE cosθ = = (2.10.13)z 4πε0  R2 + z2  R2 + z2 4πε0 (R2 + z2 )3/ 2  

Upon integrating over the entire ring, we obtain 

λ Rz λ 2π Rz 1  QzEz = 
4πε0 (R2 + z2 )3/ 2  �∫ dφ′ = 

4πε0 (R2 + z2 )3/ 2  
= 
4πε0 (R2 + z2 )3/ 2  

(2.10.14) 

where  the  total charge  is Q (2  ) . A plot of  the electric  field as a  function of  z  is= λ π  R 
given in Figure 2.10.7. 
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Campo elétrico produzido por um anel 
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Por simetria somente a componente z sobrevive:
Z
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Figure 2.10.7  Electric  field  along  the  axis  of  symmetry  of  a  non­conducting  ring  of 
radius R, with E0  = Q / 4πε0 R2 . 

Notice that the electric field at the center of the ring vanishes. This is to be expected from 
symmetry arguments. 

Example 2.5: Electric Field Due to a Uniformly Charged Disk 

A uniformly charged disk of radius R with a total charge Q  lies in the xy­plane. Find the 
electric  field  at  a  point P ,  along  the  z­axis  that  passes  through  the  center  of  the  disk 
perpendicular to its plane. Discuss the limit where R ?  z . 

Solution: 

By treating the disk as a set of concentric uniformly charged rings, the problem could be 
solved  by  using  the  result  obtained  in  Example  2.4.  Consider  a  ring  of  radius  r′ and 
thickness dr′ , as shown in Figure 2.10.8. 

Figure 2.10.8 A uniformly charged disk of radius R. 

By symmetry arguments, the electric field at P points in the +z ­direction. Since the ring 
has  a  charge  dq = σ π(2  r dr )  ,  from  Eq.  (2.10.14),  we  see  that  the  ring  gives  a ′ ′  
contribution 
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Campo elétrico produzido por um disco

Cálculo do campo elétrico produzido por um disco de raio R, uniformemente 
carregado com carga Q, calculado em um ponto P situado a uma distância z do centro 

do disco, sobre um eixo perpendicular ao plano do disco, passando por seu centro.
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Campo elétrico produzido por um disco

O resultado pode ser expresso na seguinte forma: 

′ ′  
z 4πε0 (r′2 + z2 )3/ 2  4πε0 (r′2 + z2 )3/ 2  

Integrating from  r′ = 0 to  r′ = R , the total electric field at P becomes 

dE = 1  z dq  = 1  z(2  πσ r  dr  ) 
(2.10.15) 

R2 + z2 

2 

′ ′  z uσ z R r dr  σ z R2 + 2  du  σ z −1/ 2 

Ez = ∫ dE  z = 
2ε0  ∫0 (r 2  z2 )3/ 2  = 

4ε0  ∫z2  u3/ 2  = 
4ε0  (  1/ 2)  ′ + − z 

(2.10.16)
σ z  1 1   σ  z z 

= −  −  =  − 
2ε0   R2 + z2  z2   2ε0   | z |  R2 + z2  

 

The above equation may be rewritten as 

 σ  z  
 1− 

2 2   ,  z > 0 
 2ε0   z + R  

(2.10.17)Ez =  
 σ  z  
 − −1 

2 2   ,  z < 0 
2ε0   z + R  

The electric field  z / 0  E0  = σ / 2  0 ) as a function of  z R is shown in Figure 2.10.9.E E  (  ε /

Figure 2.10.9 Electric field of a non­conducting plane of uniform charge density. 

To  show  that  the  “point­charge”  limit  is  recovered  for  z � R ,  we  make  use  of  the 
Taylor­series expansion: 

z  R2  −1/ 2   1 R2   1 R2 

1− =1− 1+ 
2   =1− 1− 

2 
+� ≈ 

2 
(2.10.18) 

z2 + R2   z   2  z  2  z 

This gives 
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To  show  that  the  “point­charge”  limit  is  recovered  for  z � R ,  we  make  use  of  the 
Taylor­series expansion: 

z  R2  −1/ 2   1 R2   1 R2 

1− =1− 1+ 
2   =1− 1− 

2 
+� ≈ 

2 
(2.10.18) 

z2 + R2   z   2  z  2  z 

This gives 
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E0 =
�

2✏0

Alguns limites:

′ ′  
z 4πε0 (r′2 + z2 )3/ 2  4πε0 (r′2 + z2 )3/ 2  

Integrating from  r′ = 0 to  r′ = R , the total electric field at P becomes 

dE = 1  z dq  = 1  z(2  πσ r  dr  ) 
(2.10.15) 

R2 + z2 

2 

′ ′  z uσ z R r dr  σ z R2 + 2  du  σ z −1/ 2 
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 

The above equation may be rewritten as 
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Figure 2.10.9 Electric field of a non­conducting plane of uniform charge density. 

To  show  that  the  “point­charge”  limit  is  recovered  for  z � R ,  we  make  use  of  the 
Taylor­series expansion: 
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lim z >> R

σ R2 1  σπ R2 1  QEz = 2  = 2  = 2 (2.10.19)
2 2 z 4  ε z πε zε0  π 0  4 0 

which  is  indeed  the  expected  “point­charge”  result.  On  the  other  hand,  we  may  also 
consider the limit where R � z . Physically this means that the plane is very large, or the 
field point P is extremely close to the surface of the plane. The electric field in this limit 
becomes, in unit­vector notation, 

 σ ˆ k,  z > 0 
E 
&

= 
 2ε0  (2.10.20) 
− σ k̂,  z < 0
 2ε 0 

The plot of the electric field in this limit is shown in Figure 2.10.10. 

Figure 2.10.10 Electric field of an infinitely large non­conducting plane. 

Notice the discontinuity in electric field as we cross the plane. The discontinuity is given 
by 

σ  σ  σ∆E = E − E = − −  =  (2.10.21)z z+ z−  2ε0   2ε0   ε0 

As we shall see in Chapter 4, if a given surface has a charge densityσ , then the normal 
component of  the  electric  field across  that  surface  always  exhibits  a discontinuity with 
∆En = / 0σ ε . 

2.11 Summary 

• The  electric  force  exerted  by  a  charge  q1  on  a  second  charge  q2  is  given  by 
Coulomb’s law: 
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carga pontual 

Ez = � �z
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R2 + z2
� 1p

z2

�
=

�

2✏0


z

|z| �
zp

R2 + z2

�

lim
x<<1

(1 + x)n ⇡ 1 + nx
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Campo elétrico produzido por um plano infinito 
uniformemente carregado

Limite oposto: limR >> z

Ez =
�

2✏0


1� zp

R2 + z2

�
⇡ �

2✏0
(z > 0)

Ez =
�

2✏0


�1� zp

R2 + z2

�
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2✏0
(z < 0)
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2.11 Summary 
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O campo elétrico produzido por um plano in!nito, uniformemente carregado com 
densidade super!cial de carga       tem módulo constante e é perpendicular ao plano. �

+ -

E =
�

2✏0
E =

�

2✏0
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Dipolo elétrico em um campo elétrico
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Dipolo em um campo elétrico uniforme

a

-q

q

y

x

~E

~F�

~F+

x

✓

+

-
a

A resultante das forças sobre o dipolo é nula   

~F+ + ~F� = 0

O torque resultante sobre o diplo em relação à origem é diferente de zero  

~⌧ = ~r+ ⇥ ~F+ + ~r� ⇥ ~F�

- Momento de dipolo elétrico 

~p = 2aq
h
cos ✓ î+ sin ✓ ĵ

i

~F+ = +q ~E ~F� = �q ~E

⌦ ẑ

⌧ = |~⌧ | = 2 qE a sin ✓ = pE sin ✓ (p = 2aq)

~⌧ = ~p⇥ ~E ⌦ ẑ

O momento de diplo se alinha na direção e sentido do campo

F+ sin ✓
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Energia potencial de um dipolo elétrico
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Trabalho feito pelo campo para rodar um dipolo em um 
campo elétrico uniforme

a

-q

q

y

x

~E

~F�

~F+

x

✓

+

-
a

O trabalho feito pelo campo para girar o 
dipolo de um ângulo in!nitesimal        

⌦ ẑ ~⌧
� ✓̂

d✓
x

dW = ~⌧ · d~✓ = �pE sin ✓ d✓

d✓

W =

Z ✓

✓0

dW = �
Z ✓

✓0

pE sin ✓

0
d✓

0 = �pE

Z ✓

✓0

sin ✓

0
d✓ = pE [cos ✓ � cos ✓0]

�U = U(✓)� U(✓0) = �pE [cos ✓ � cos ✓0] Escolhendo         U(✓0 = 90o) = 0

U(✓) = �pE cos ✓

z }| {
Escolha de origem para energia potencial
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Micro-ondas
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Micro-ondas

H+
H+

O2�
Na presença de um campo de micro-ondas (que varia no tempo )

~

E(t) = E0 cos!t

As moléculas polares oscilam e aumentam a energia térmica do sistema

http://www.geek.com/news/how-microwave-ovens-work-1499295/
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